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COMMERCE
Costing Methods and Techniques (DSC)
(Regular and Repeater)

Time : 2 Hours Maximum Marks : 60

Instructions to Candidates:

1. Attempt All the Sections according to internal choice.

30308 wolich IWT QTR EAnTE) LI,
2. Use Simple non-programming calculator.

TTY BRLMRILONT BOTE, WA
3. Section - D Case study is compulsory.

ouRn & TEor @559533 3T CRERNT.

SECTION - A
sgen - &

Answer any FIVE of the following questions.
TWEIHNEY Uems sa:ie':; USOR0.

| % - Name any Four undertakings where job costing applies.
28 HIR B orod TGk sgobmdd  Tee)
B0, b N

_b) What is Contract costing?
< r‘bgﬁ dz‘iﬁj REAEC ﬁd{ﬁ ROTITeT?
¢) Name four examples of Composite cost units.
lelevicyc RV} PLINY Ty FUTRBOBNYZY, BR0R0.

_dy Write two features of Process costing.

e) Write any two advantages of Activity based costing.

(5%2=10)

wf.g;:fi}ﬁ@?ia

zod (JRAT) W[y LreFcd TH3CH  LUW  oFEnEy  wick.
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LIDON0,

f) - What is Break Even Point?
HeNTRIP WO LOTOET?

g) Write two objectives of budgetary control.

Wty (BoR@on) DoPOTem U@ LUTEINTEY,  WOD.
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SECTION - B
SRR -

Answer any THREE of the follewing questions, (3x5=15)
a‘#ﬁd@ﬁﬁg Levery msg EVED20.

T ' The following information is extracted from the costing records in respect of Joh
No.101.
Maierials Rs.6.000
Wages : 160 hours at Rs.5 per hour
Factory overheads mecurred 1s Rs.5,000 for 4000 labour hours
Administrative overhead s 20% of Factory Cost
Selitng price Rs. 10000
Prepare Job cost sheet tor Job No.101

EJ'UEiI%ﬁ"E ﬁc::% 101 % [OWORLT0S aﬂegtﬁ LSNP B 2SAZ - oledadhn
e;z%mﬁd
SN de. 6,000
ead : B2 otk ce. s ToZ 160 rogng UEOR Woord sheen o
000 500030 rowineR oo, 5.000 ATES. CWITIE  wheen 8523
TR0 E DT 20% o LI, |
BRoIRD 88 da. 10,000
wdgen Xosl, 101 © g e &g TEIODT,  Bodwoo.

2= Shrinita transport company Operates 5 buses between Savadatti and Belagavi. The
distance between Savadatti and Belagavi is about 80 kms. The capacity of each
bus is 50 passengers. But op an average the bus runs 80% full of jts seating capacity:
All the buses run on a] the days of the month of March. Fach Bus makes tWo round
trips each day. Calculate fotal passenger-kilometers.
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Explain the Steps involved in implementing Activity based costing system.
Gtomtis  emedd  S¥ doroh Sl S@EFohd, eRmBievhng
LYNROBTIT  TOBNYE), LBOAD.

From the followmg information, Calculate BEP in sales and P/V ratio:
Sales Rs.  10,00,000
Fixed Cost  Rs. 3.00,000
Profit Rs. 2,00,000

2 EYNS SRLANY =puod  Shed  emsod aa"zzédm‘- AR A 8TAY mmuwﬁ
(DaB. wooew) W ooy SoSwH  wDEE  FoREOWO.
ERSTHOT N o 10,000,000

E{de aﬂzg e, 3.00.000
TR Tue.  2.00.000

From the following particulars , Calculate:
a)  Matenal cost variance
b) Material price variance

¢) Matenial Usage variance and

Standard quantity of maternials: 500 Umis
Standard price: Rs.4 per unit
Actual price: Rs.4.20 per unit
Actual Quantity: Rs.480 units

[P.T.O.
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SECTION - C
QEn — 3

Answer any TWO of the following questions. (2x10=20)
EnEPnvY dewn STEE,  YUIOA0.

7. Naveen Ltd. has undertaken to construct a building. The following data are available
for the year ended 31-03-2025
Rs

Contract price 5,000,000
Materials 1ssued to site 55,000 -
Wages paid 18,000 -
Direct expenses paid 6,000 -
(eneral overhead 25% of wages
Site office costs 10,000 -
Sub contract cost 15,000 -
Plant issued 2,00,000—
Wages accrued 2,000-
Direct expenses prepaid at the end 1,000
Materials at site at the end 5,000 =
Work uncertified 30,000
Materials lost by fire 2,000 ©
Cash received (80% of work certified) 2,00,000 ~
Depreciation on Plant 10% pa~"

From the above information prepare contract account.
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Sorm  Oondlwry  BE  QFRen  ghsdeo@d. 31-3-2025 §  Eedhecw
Eﬁﬁ?ﬂ_& DRICIN B3 FENToSD.

o,
SRR 5.00.000
NFeTIE,  DeBRT AT 55,000
Bnd ead 18.000
ded e 6,000
m;ﬁmﬁa ZoeEn 53% BRO0H  25% o,
nEdess  Bfed sizé 10,000
B0 m%ﬁoi‘} ﬁzzéi 15.000
chodeegte  DeBTONTY 2,00,000
mowE IRd  (3emuimench) 2,000
S@Fd dedn oemrmms ded Sunw 1,000
DRIITODE w0 ROBAD  31-3-2025 5,000
WSerdgorns  Fom 30.000
Hodtnow TWT TN 2,000
Snch  As0AT) (T@eedTorn dumc 80% o) 2,00,000
ohodeeETonen  @ied  mImEY 10% mi-%

203 TLIWon ™A smBchmd, Iokwdad.
8 A Product passes through two processes A and B. 500 units of materials were
introduced at cost of Rs.4 per unit in process A, Other details are as under

Process - A (Rs.) Process - B (Rs.)
Sundry materials 2,600 2,000
Direct wages 2,250 3,680
Normal loss 10% 20%
Scrap value per mmit (Rs) 2 4
Qutput in units 450 340

Production overhead is recovered at 100% of direct wages. Prepare process accounts.
2 pare |

[PT.O.
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2OT B A B3 B oow 20w mfohrnd Sheor et SeihEs.
Tgoh A BY 500 chedwng AdbrvEy, Td ohedFR oe. 4 Cod
Todchmeens. w38 LHTonsh 8 IhToss.

Zeh (A) (38 Zeh (B) (3)

mealn  ROENSD 2.600 2.000

e Aol 2.250 3,680

"’I:mt}?f:] EET-‘J& 109, 209

oD 09 md  ohediFn 2 4

ST  ohRLETTYd 450 340

S0 medod 100% &) WIS e SEmgh o Sdobeend  Zgednd
éﬁﬁﬁ@ﬁ}‘i SOIROA0.

9.  Santosh Lid. Produces two products. It furnishes the following information for the
year 2023
Product Annual output Total Machine Total Number of Total Number

(units) Hours Purchase of Set-ups
orders
A 5,000 24 000 250 30
B 20,000 54,000 450 60
The annual Overheads are as under:
Volume related activity costs Rs. 4.68,000
Set up related costs Rs. 5,94,000
Purchase related costs Rs. 4,90.000

You are required to calculate the cost per unit of each product under activity based
costing method.

L

OBEfE Lobinds O SN
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(CIRRETTIVS) notdnsh esziene Hoes
:ic::najﬂ
A 5,000 24,000 250 30

B 20,000 54,000 450 60
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SIUAEE aﬁayi;@ B TWnmod Q.

GJfo.
DORTE  mowoH3  Ethmesd ENj) 4,68.,000
A mowond &y 5,94,000
20l mcwohs j'ﬂ; 4,90,000

G2 BT TS cnhus S, Bsud omedd By Acerod Fgachg
FO@EREN0,
From the following information prepare a Flexible Budget at 70%, 80% and 90%
plant capacity. '

At 80% capacity

Hs.
Vanable Overhead
Indirect [abour 12,000
Stores and Spares 4.000
Semi-vanable overheads
Power (60% Fixed, 40% variable) 20,000

Repamrs and Maintenance (60% Fixed and 402 variable) 2,000
Fixed Overheads

Depreciation 11,000
Insurance 3.000
Salaries - 10,000

3 EPND SRndkdcdh SRt e LDRONELEIDIE  SMonis TB@ey,  70%,
0% 5506% 0% m{:ﬁmd mﬁcﬁﬁ.ﬁ'm’g BTS040,
80% MEHFTS

WTRODTWIIE BT TR
mcﬁmg 3ed) 12,000
SISy I  DENND 4,000
Zlo IR e lorlevs Ak srana soesnsey

LEing (60% P-éﬁ‘ 40%  TICRCDTIENTOT) 20,000
OFO  whEy LuFEE (60% aép. 40% DDTRONRLBIITGE) 2,060
ﬁéﬂ mﬂﬁﬁji

ATEY 11,000
B TVY) 3,000
T0LISNYD 10,000

[PT.0.
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SECTION - D
sngen - @

Case Study (Cempulsory) question. (1x15=15)
TEULY WHHODT FECD §5‘1.

Adarsh Company Ltd. provides the Budget estimate for the year 2024-25.

Selling price < Rs. 100

Fixed cost 2 Rs. 2,00,000
Vanable cost : 60% of Selling price
Calculate:

a) P/V Ratio

b) BEP in Sales

c¢) New BEP if fixed cost increased by Rs.50,000
d) New BEP if variable cost increased by 15%
e) New BEP if sales price increased by 20%

=ogs o SanddwE, 2024-25 © e Homazaab‘l zudﬁ"‘ﬁogd.
moorudity £ - "o, 100

1‘:}3 ;32: ;o S, 200,000
i—:*wd sﬁzi . DRPURE  Sdcm  60%
OB

a) x..n:.lﬁ; m.@&"ﬁas‘a SNt

b} Tahmede wom IPTUG ﬁﬁ%@g (BEP in Sales)
c) fgpd di Oe. 50,000 Ty, RO BRT  Bgd.
d) mr’ ;ﬁz@ 15% o= mEE"’uﬂ ZeR D3

e) m:rﬂuw Zag  20% dmﬂ ﬁz&awﬁ BEH DA,




